
MATHS

BOOKS - KUMAR PRAKASHAN

QUESTION PAPER-2

Section A

1. What will be the graph for the equation 

Watch Video Solution

6x − 2x2 + 7?

2. State the roots of quadratic equation

Watch Video Solution

ax2 + bx + c = 0  if b2 − 4ac > 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9wqg0ZnpO7AZ
https://dl.doubtnut.com/l/_IO9CCrlnf34r


3. 2k+1, 13, 5k-3 are three consecutive terms of an A.P, then k= 

A. 9

B. 4

C. 17

D. 13

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_IO9CCrlnf34r
https://dl.doubtnut.com/l/_PRWzohP9XVKb


4. For the given figure BC=20cm and  then AB=…….cm and

AC=…..cm. 

A. 

B. 

C. 

D. 

∠A = 300

20√3, 40

40, 20√3

, 40
20

√3

40,
20

√3

https://dl.doubtnut.com/l/_J2dQgcdN0ZfB


Answer: A

Watch Video Solution

5. Mode -Mean=….(Median-Mean)

A. 2

B. 4

C. 3

D. 6

Answer: C

Watch Video Solution

6. From the given rational numbers ……will have non-terminating

recurring decimal.

https://dl.doubtnut.com/l/_J2dQgcdN0ZfB
https://dl.doubtnut.com/l/_2WyemZyN8e0G
https://dl.doubtnut.com/l/_ZuaB58FOYgIB


Section A Fill Up The Blanks

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

17
32

17
248

17
160

17
64

1. LCM of 23, 35, 46 is…..

Watch Video Solution

2. If  and , then 

W t h Vid S l ti

13x + 19y = 90 19x + 13y = 70 x + y = ……

https://dl.doubtnut.com/l/_ZuaB58FOYgIB
https://dl.doubtnut.com/l/_OyTcPsjeJGxv
https://dl.doubtnut.com/l/_27AqpPVnIfFw


Section A Short

Watch Video Solution

3. The present age of father is x years and the total age of his two

sons is y years, then the sum of their ages 5 years hence will be .....

years.

Watch Video Solution

1. If A  is the midpoint of the line segment joining Q(-6, 7) and

R(-2, 3), then find the value of m.

Watch Video Solution

( , 5)
m

2

2. If  then find the value of 

Watch Video Solution

sin A =
1

3
9 cot2 A + 9

https://dl.doubtnut.com/l/_27AqpPVnIfFw
https://dl.doubtnut.com/l/_tDgBDfE5wSdJ
https://dl.doubtnut.com/l/_v2aGGt0QBeID
https://dl.doubtnut.com/l/_WuCbZmxUUEfS


Section A True False

3. Find the area of a square inscribed in a circle of radius 8 cm.

Watch Video Solution

4. If the ratio of the volume of two spheres is 64:27, then find the

ratio of their surface area.

Watch Video Solution

1. The perpendicular at a point of contact to the tangent to a circle

passes through the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_WuCbZmxUUEfS
https://dl.doubtnut.com/l/_UNKbpxAoUNjR
https://dl.doubtnut.com/l/_OOYMhj0XorfJ
https://dl.doubtnut.com/l/_2HQ8QF1AUpYk
https://dl.doubtnut.com/l/_nyrfE30uV0MP


Section B

2. If P (A) is the probability for any event A. then 

Watch Video Solution

P (A) < P( ¯̄̄A).

3. The probability of having 53 Mondays in the year 2020 is .

Watch Video Solution

3

7

1.  

(i) Find the probability of the students getting more than 40 marks. 

(2) Find the probability of the students getting less than 30 marks.

Watch Video Solution

https://dl.doubtnut.com/l/_nyrfE30uV0MP
https://dl.doubtnut.com/l/_xZuGcT68fM28
https://dl.doubtnut.com/l/_uztRn4X4EuMF


2. Prove that  is an irrational number.

Watch Video Solution

√7

3. The sum of the squares of two consecutive odd positive integers is

650. Find the number.

Watch Video Solution

4. Solve the pairs of equation: 

Watch Video Solution

+ = 2, − = − 1
2

√x

3

√y

4

√x

9

√y

5. Find the value of k for the following equations having infinetely

many solution 3x-(k+1)y=20 and (k+2) x-10y=40.

Watch Video Solution

https://dl.doubtnut.com/l/_RbtqkT0tS9H3
https://dl.doubtnut.com/l/_LIxpKTk4Nff8
https://dl.doubtnut.com/l/_miLIqdiRIKN3
https://dl.doubtnut.com/l/_x45IjxFyxIFk


6. Prove : 

Watch Video Solution

= cot θ
2 sin θ cos θ − cos θ

1 − sin θ + sin2 θ − cos2 θ

7. Evalutate :

Watch Video Solution

4(sin4 30∘ + cos4 60∘ ) − (sin2 60∘ − cos2 45∘ ) + tan2 60∘2

3

1

2

8. Evaluate :

Watch Video Solution

(sec2 27∘ − cot2 63∘ ) + (sin2 52∘ + sin2 38∘ )

(cos ec234∘ − tan2 56∘ ) + tan 10∘ . tan 20∘ . tan 30∘ . tan 70∘ . tan 80∘

https://dl.doubtnut.com/l/_x45IjxFyxIFk
https://dl.doubtnut.com/l/_SFbwUEgT5FTd
https://dl.doubtnut.com/l/_Lo5luJrQcO0Q
https://dl.doubtnut.com/l/_ErEPyMdPfYGE


9. Two cocentric circles are of radii 7cm and 25cm. Find the length of

the chord of the larger circle which touches the smaller circle.

Watch Video Solution

10. Prove that the parallelogram circumscribing a circle is a rhombus.

Watch Video Solution

https://dl.doubtnut.com/l/_PYLFZZa5oTs8
https://dl.doubtnut.com/l/_1PUVj9GEfUch


11.  

(i) Find the median of the data from the above graph. 

(ii) State the type for curve A and curve B.

Watch Video Solution

12. A man of height 156cm stands under a semicircular arc at a

distance of 36cm from one end such that his head touches the arc.

Find the width of the arc.

Watch Video Solution

https://dl.doubtnut.com/l/_2dLN0uFJZxp2
https://dl.doubtnut.com/l/_bvGgiTXdQFob


Section C

13. Find the roots by factorisation : 

Watch Video Solution

√2x2 + 7x + 5√2 = 0

14. Find the roots : 

Watch Video Solution

3x2 − 4√3x + 4 = 0

1. On dividing  by a polynomial ,

then quotient and remainder.

Watch Video Solution

x3 − 3x2 + x + 2 g(x) = x2 − x + 1

https://dl.doubtnut.com/l/_y4pptTAUcOzt
https://dl.doubtnut.com/l/_lhbbDtvJiN1S
https://dl.doubtnut.com/l/_eoRQ7aNECqz9


2. The sum and the difference of the reciprocals of the ages of

Aishwarya and her daughter Aaradhya is  respectively.

Find their ages.

Watch Video Solution

and
5

40

3

40

3. Under a project of "one child one tree undertaken by a school

students plant the trees in a pattern of first row three plants, second

row 5 plants and 3rd row 7 plants and so on. The last row has 37

plants. Find the number of students in the school.

Watch Video Solution

4. find the 31st term of an A.P., whose 11th term is 88 and 16th term is

73. Which term of this series will be the 1st negative term?

Watch Video Solution

https://dl.doubtnut.com/l/_VunGBJzkG21Y
https://dl.doubtnut.com/l/_xrBVe8wxghvn
https://dl.doubtnut.com/l/_CdbwT1VnGaZC


5. The vertices of a quadrilateral are A(1,0), B(7,0), C(6,3) and D(2,3).

Find it's area

Watch Video Solution

6. The following frequency distribution gives the monthly

consumption of electricity of 68 consumers of a locality. The median

of the given distribution is 137 units. Find the no. of consumers

whose montly consumption is between 105-125 and also for 145-165.

View Text Solution

7. 

https://dl.doubtnut.com/l/_1HrlnynaK8V8
https://dl.doubtnut.com/l/_y6XxZcUDPzKn
https://dl.doubtnut.com/l/_htzQpyx69wSy


The above data gives the informatioin on the observed lifetimes (in

hours) of 225 electrical components. Find the mean.

View Text Solution

8. A quadrilateral ABCD is drawn to circumscribe a circle (see the

given figure). Prove that AB+CD = AD+BC. 

Watch Video Solution

https://dl.doubtnut.com/l/_htzQpyx69wSy
https://dl.doubtnut.com/l/_aHXJfOFBXV72


9. From each corner of a square of 4 cm quadrant of a circle of radius

1 cm is cut and also a circle of diameter 2 cm is cut as shown in fig.

Find the area of the remaining portion of the square.

Watch Video Solution

10. A platform with dimensions  is formed from

the earth digging the well with diameter 7 m. Find the depth of the

well.

22m × 14m × 2.5m

https://dl.doubtnut.com/l/_wzRpbcJnryi3
https://dl.doubtnut.com/l/_guytY9qL7Llb


Watch Video Solution

11. A tent is in the slape of a cylinder surmounted by a conical top If

the height and diameter of the cylindrical part are 2.1 m and 4 m

respectively and the slant height of the top is 2.8 m. find the area of

the canvas used for making the tent. Find the cost of the canvas of

the tent at the rate of 500 per .

Watch Video Solution

m2

12. Two water taps together can fill a tank in one hour and twelve

minutes. The tap of smaller diameter takes 1 hour more than the

larger one to fill the tank separately. Find the time in which each tap

can separately fill the tank.

Watch Video Solution

https://dl.doubtnut.com/l/_guytY9qL7Llb
https://dl.doubtnut.com/l/_BH9TZaHP11nz
https://dl.doubtnut.com/l/_2QX1tFxk8fD7
https://dl.doubtnut.com/l/_eBiatikHaD0v


13. An observer spots a balloon moving with the wind in a horizontal

line at a height of 105 m from the ground. The angle of elevation of

the balloon after sometime reduces from 60% to 30%. Find the

distance travelled by the balloon during the interval.

Watch Video Solution

14. A tank in shape of frustum of a cone having diameter of top and

bottom are 6cm and 10m respectively. If the height is 3m then how

many litres of oil can be filled in it? How many drums of 200l each can

be filled?

Watch Video Solution

https://dl.doubtnut.com/l/_eBiatikHaD0v
https://dl.doubtnut.com/l/_y1kb9YjwAn9F

